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1
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alpha13_4eX1X:cyclenum {run == 6396}
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9.5

10
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11.5
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a4
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4e
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Y

alpha46_4eY4aY:cyclenum {run == 6396}
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delta13_12X4eX:cyclenum {run == 6396}
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170.5−
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usl_1X:cyclenum {run == 6396}
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usl_4eX:cyclenum {run == 6396}
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33.5

34
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Y

usl_4eY:cyclenum {run == 6396}
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65−

64.5−

64−

63.5−

63−
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usl_12X:cyclenum {run == 6396}
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6138 6138.5 6139 6139.5 6140
cyclenum
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223.5−
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usr_1X:cyclenum {run == 6396}
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2.5
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28.6
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Y

usr_4eY:cyclenum {run == 6396}
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70.4−

70.2−

70−

69.8−

69.6−

69.4−

69.2−

69−

68.8−

68.6−

68.4−

68.2−
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r_
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X

usr_12X:cyclenum {run == 6396}

6138 6138.5 6139 6139.5 6140
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6397.5

6398
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n

run:cyclenum {run == 6396}



6138 6138.5 6139 6139.5 6140
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27706

27706.5

27707

27707.5

27708
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l_
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usl_coil1:cyclenum {run == 6396}
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5556
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usl_coil3:cyclenum {run == 6396}
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7042.8

7043
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7043.4
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usl_coil4:cyclenum {run == 6396}
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1132−

1131.5−
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il6

usl_coil6:cyclenum {run == 6396}
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usl_coil7:cyclenum {run == 6396}
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27593.5−
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usr_coil1:cyclenum {run == 6396}
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5365.8−
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usr_coil3:cyclenum {run == 6396}
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6138 6138.5 6139 6139.5 6140
cyclenum

30803.2

30803.4
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74−
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72−
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6138 6138.5 6139 6139.5 6140
cyclenum

19.5

20

20.5

21

21.5

4e
X

_c
oi

l7
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